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; 100kN/mM%E#BZ5 | 1.00 | 0.00 ~ 2.04 131.55 |3mEBAB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.24 ~ 19.00| 131.55 |3m&EBZ5 -~ — — —
Zh st 1.00 | 204 ~ 9.82 100.00 | Fhilst | 000 ~ 982|259 13.09 Fhst 1.00|5.00 ~ 1124 100.00 | =hs | 5,00 ~ 19.00| 2.59 13.09
2 100kN/mM#Z#BZ5| 1.00 | 000 ~ 096 11443 |3mZEBZB| — ~ — — — | 100kN/mi%E 25 | 1.00 | 1398 ~ 1800 114.43 |3m&EBZ5 -~ — — —
Zhst 1.00 096 ~ 875 100.00 | #nst | 000 ~ 875|285 14.43 Fhs 1.00 | 5.00 ~ 1398 100.00 | TnLS | 5,00 ~ 1800 | 2.85 14.43
3 100kN/mM%E#8Z 5| 1.00 | 0.00 ~ 1.21 118.27 |3mZ&BAS| — ~ — — — | 100kN/mi%# 25 | 1.00 | 13.79 ~ 19.00| 11827 |3m&EBZ5 - ~ — — —
ZhnLst 100|121 ~ 899 100.00 | #nLs | 0.00 ~ 899|284 14.36 Zh st 1.00 | 5.00 ~ 1379 100.00 | TN | 5.00 ~ 19.00| 2.84 14.36
4 100kN/mM#%#BZ25| 1.00 | 000 ~ 216| 13353 |3m&EBZE| — ~ — — — | 100kN/mi% 25 | 1.00 | 1083 ~ 19.00| 133.53 |3m&EBZ5 -~ — — —
Zh st 1.00 | 216 ~ 995 100.00 | Fhilst | 000 ~ 995|251 12.70 Fhs 1.00 | 5.00 ~ 1083 100.00 | TN | 5,00 ~ 19.00| 2.51 12.70
5 100kN/mM%#8Z5| 1.00 | 000 ~ 111 116.66 |3mEBAB| — ~ — — — | 100kN/mi%# 2% | 1.00 | 10564 ~ 14.00| 116.66 |3m&EBZ5 -~ — — —
Zh st 1.00| 111 ~ 889 100.00 | =ndst | 000 ~ 889|217 10.95 Fhs 1.00 | 5.00 ~ 1054 100.00 | =S | 5.00 ~ 1400|217 10.95
¢ 100kN/MZ#B % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZE#BZ B - ~ — - -
ZzhnLst 1.00 | 0.00 ~ 6.67 84.23 | LS | 000 ~ 667 1.81 9.13 Zzhn st 1.00 | 5.00 ~ 8.10 84.23 | #hs | 65.00 ~ 810 1.81 913
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 3 — - ~ — — |3mZE#BZ B - ~ — - -
st 1.00 | 0.00 ~ 4.562 56.35 | NS | 000 ~ 452 1.91 9.67 ZzhLs 1.00 | 5.00 ~ 5.00 56.35 | =hLS | 5.00 ~ 56.00)| 1.91 9.67
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




